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SEEBOEERK +3.72 F/kwh EERE 0.224 F/kWh
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SEHBOEES PR EAEPRAHEE i B PRI B R
PREEAEEM=( 60,800 - 44200 ) X 0.224 = 1,000 = +3.72
HASEHRBOES PR AT H B PRI SR B AT
PAHEEREEME=( 60,800 — 44200 ) X 0.221 = 1,000 = +3.67
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I A {E 57,802 FA/kL 72,598 H/kL
FHLNGIEE 67,548 A/t 88,168 H/t
TR i fE 11,452 A/t 29,440 A/t
AT 44,200 A/kL 60,800 F/kL
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SEHREOEERK —3.16 F/kwh
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PREMEARSAREEM = ( 53,900 —
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53,900 AH/kL
R H 72,598 H/kL o : 0.0033
FEHLNGHTHE 88,168 A/t B : 0.4001
EH A R 29,440 A/t v : 0.6241

NELEE PR R . 64,900 /kL
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A RGHME X o +FHLNGHEE x B +FH A R x v
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BB | EAETISE
aE 0.150 F/kWh | 0.337 F4/kWh
HAIEE | 0.145 FH/kWh | 0.328 F4/kWh
R B PR S 1
X 0.150 -— 1000 = —1.65
R B PR S 21
X 0.145 -— 1000 = —1.60
RIS B IS S B 1
X 0.337 = —1.51
RIS B IS S B 1
X 0.328 = —1.47
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12.95 M/kWh

EJ=Lie R 13.08 H/kwh 0 1: 0.6566

BT 12.70 M/kWh §2: 0.3434

KEENIGME: 17.44F/kWh
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